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9� !���%�� +������ ��''0���#%���'. 2���(� �;�#0�$& �8� ;� 1�'������'�%#- �;��%$�,
 #. �%#/� #�0 ��(�# % R3 ;�� ���'�%#�0 �;��%$.-?�� '#$�! �8�� #(�  �� ;� %�$#(# ��
���% � #. �%#/� #. mq̈ = u� ���'& m , 0�''� ��(�#! qεR3 6 ;�$�/� #�! uεR36 �;��%$� #�!
�8�� #(�  �� ;� %�$#(# �� ‖u‖ ≤ 1�

�� 9��%�����"� ����*&�"� � ������"� � *�%�
� � �1?�0 '$�(�� ;��#2%�$& �- 2�,
��(� 0�/ � '%�'�# � 2���(� '  �(�$& �0# �'$�%#.0#� qi = 0! q̇1 = 1! q̇2 = q̇3 = 0� ��20�/ �
��# %��#� ���
9B ��8�� '����'�&  � �1�#< �� 4�< ��% �  �$-! �� ���� #� ��#%#�$& �� �%#8��0'. ;� ;�.,
0�� ;�$�%# � %��0� # �'���..'&! � %����- 6 2�0��$..'&�
5B �'$# '����'�& %  �(�$& �� 0�0� �  � ��% �  �$-! ��! #';�$&2�. ;���1��2�%� #. '�%#8�
;� �����# ���0! ;�%����� %����8 �'�� # ��'�./� #�! ;�#%��#0 2���(� � %������2�  �0�
%#���
tB �'$# '����'�& %  �(�$& �� 0�0� � ��% �  �$-! � % �� �( �� 0�0� � %��0� # ��$#( �
��  �$.! �� ;�#0� .�0 �?� # �#'���� �� ;���1��2�%� #� , ����/� #� ;� %��0� # h�
S�'$� %������2�  �8� ;�#%��� #. ;�%�����0 %����8 �'# q3 ;��#2%�$& �� �� �( �� �'$�,
%#. 0�/ � '%�'�# � %#��! ��8�� 2 �(� #. ;� ;��%�0 �%�0 �����# ���0 #0�-�  ��������
2��� �� 2 �(� #� q1 (T )! q2 (T )! � q3 (T ) = 0�


� 3��((�  ����!��$ +������ S� .�#� ;���0;� � � �� # %��#� � �'�# 2���(# �;,
�#0�$& �8� �;��%$� #. %%��� � % ��1��� �9�� �%��� � %';�0�8���$& �� ;���0�  ��
A0 �/#��$# ��8�� /�B� ;�'��.  �� ψ = (ψ0, ψ1, ..., ψ6)!  �;����% �. #  �;����% �,
�#33��� 4#���0�. %�����,3� �4#. y (t) = (y1 (t) , y2 (t) , y3 (t))! ��'�( �, �;����% �. # ��,
'�( �,�#33��� 4#���0�. '��$.� �. 3� �4#. μ (t)� 	2 �'$�%#� ;���0;� �� �� # %��#� �,
 �'�#  �<��#�'. %���/� #� �$. μ (t)! � ���/� �1?#� %#� 3� �4## y (t) = c1it + c2i ��',
'0���#%��0�. 2���(� �;�#0�$& �8� �;��%$� #. ;���0;� � � � # %��#� � � �� �'#��$& �
���'�%#. 8��;;� ��$#$�. �5�! ������. '�'��#� #2 ��'.�# ;���1��2�%� #��
��%#8 ;� %��0� # t

′
= t+ σ0! q́1 = q1! q́2 = q2! q́3 = q3�

��%#8# ;� �'.0 q1� t
′
= t! q́1 = q1 + σ1! q́2 = q2! q́3 = q3�

��%#8 ;� �'# q2� t
′
= t! q́1 = q1! q́2 = q2 + σ2! q́3 = q3�

��#%8 ;� �'# q3� t
′
= t! q́1 = q1! q́2 = q2! q́3 = q3 + σ3�

S���<�� � ;��%#/ �� '#'��0� �����# ���
S� �'# q1� t

′
= t! q́1 = q1 + σ4t! q́2 = q2! q́3 = q3�

S� �'# q2� t
′
= t! q́1 = q1! q́2 = q2 + σ5t! q́3 = q3�

S� �'# q3� t
′
= t! q́1 = q́1! q́2 = q2! q́3 = q3 + σ6t�

���?� #� %����8 �'�� �����# �� q1! q2! q3 '���%��'�%�  ��
q́1 = q1! q́2 = q2 cosσ7 + q3 sinσ7! q́3 = −q2 sinσ7 + q3 cos σ7�
q́1 = q1 cos σ8 − q3 sinσ8! q́2 = q2! q́3 = q1 sinσ8 + q3 cos σ8�
q́1 = q1 cos σ9 + q2 sinσ9! q́2 = −q1 sinσ9 + q2 cos σ9! q́3 = q3�
�(�%#� �! (�� %'� 0 �/�'�%� ;���0;� � � �,# %��#� � �< ;���1��2�%� #�  � #'(��;�%�,
��'. 8��;;�� ��$#$�.� � ��(�'�%� ;�#0��� ;�#%���0 ;���1��2�%� #� ��'�./� #. t = eσ10t!
q́1 = e2σ10q1! q́2 = e2σ10q2! q́3 = e2σ10q3� �$. ��  �< ;���1��2�%� #� ;�'���� � %����� ��
;�$. # #< ;����$/� #. �5��

*t



}� 9��%"� ��!�>��*"� �$. ��/��8� %����� �8� ;�$. ;�'���� ;��%�� # ��8��$ �9��
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N(0) = −P ‖y‖ /m+ c11q̇
1 + c12q̇

2 + c13q̇
3 − ψ0/m,

N(7) = (c12t+ c22) q̇3 − (c13t+ c23) q̇2 − c12q
3 + c13q

2,

N(8) = − (c11t+ c21) q̇3 + (c13t+ c23) q̇1 + c11q
3 − c13q

1,

N(9) = (c11t+ c21) q̇2 − (c12t+ c22) q̇1 − c11q
2 + c12q

1,

N(10) =
(
c11q̇

1 + c12q̇
2 + c13q̇

3
)
t+ 2

(
c21q̇

1 + c22q̇
2 + c23q̇

3
)
− 2
(
c11q

1 + c12q
2 + c13q

3
)

+ P ‖y‖ t.
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